Problem D

Square Route

HiRE /RS
Kazuhiro Inaba



acm-icpc.aitea.net

o) 2

O/K¥FE/FEEIC
EHD

EMNE-TLVS

O 1F 75 2 (3 4a]4

h; <

In

ll




acm-icpc.aitea.net

o) 2

OY 2T ILEL6{E

) S | I | E—

I I )

ii
n

L

|

ii
n

ﬁ

Iﬁl_ l
ﬂ

L

|
|

|

]l




acm-icpc.aitea.net



acm-icpc.aitea.net

HTALEE (S DX,y EERE A 5 E)

o yO=0 )10 W, T w, )12 w:T
O y1=y0+h] —
O y2=y1+h2 Yo— (=, ] =
O y3=y2+h3 y, L= B
o... "

Yo —— 7 B
O x0=0
O x1=x0+w] hs{
O xX2=x1+w2
o ...

Yz — \= B

1 [ I 1




acm-icpc.aitea.net

\EARAIUE

OWLWAWALRAENHYET
OEIER

m 2ok vk
OFF A45ELR
OANDKSTHEE

o(izxHoshs...?7)




acm-icpc.aitea.net

O0EBZ4KEAT
IEARIZTEHh

¥ 7E

O4KNDEV A%

2RYET

0 O(N2M2?)
O0E9E5!
O ClEA1

- f

5

XO Xl X2 X3
LW W w ]
- ~v - ~—"—




acm-icpc.aitea.net

IEARAIUNEERR)

O £{Lla—F

count = 0
for w in 0 .. x.length
for e 1in w+l .. x.length
for n in 0 .. y.length
for s in n+l .. y.length
1t x[e]-x[w] == y[s]-y[n]
count++
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count 0
for w in 0 ..

w+1
n+1

e
S

1t x[e]
1f x[e]
1t x[e]
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.
for n in 0 ..

W
W
W

X. length
y. length

S_
S_
S_

while e<x. 1ength && s<y.
_==y_
I<=yl
1>=yl[

nj:
n]:
nj:

length
count++
e++
S++
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naname = new Map()
for 1 1in 0 .. x.length
for J in 0 .. y.length
nanamel[y[j]-x[1]] ++

count = 0
for k,v 1in naname
count += v*(v-1)/2
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yoko = new Map()
for 1 1in 0 .. x.length
for J 1in 1+1 .. x.length
yoko[x[j]-x[1]]++
tate = new Map()
(.RL.)

count = 0
for k,v 1n yoko
count += yoko[k] * tatel[k]
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OFirst accept: 2/mb&2s
OLast accept: 2h58mM25s
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